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UPCOMING ONLINE BATCHES

04 AUG 2021

LIVE PREMIUM GREEN CARD
(BANK PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

07:30 PM to 09:30 PM

LIVE CLASS COURSE
(MATHS)

03:00 PM to 05:00 PM

LIVE CLASS COURSE
(UP SI)

BILINGUAL

& www.mahendras.org

August 2021

11 AUG 2021 18 AUG 2021

01:00 PM to 03:00 PM

LIVE CLASS COURSE
(TET & CTET)

05:30 PM to 07:30 PM

LIVE PREMIUM GREEN CARD
(BANK PO & CLERK)

08:00 AM to 10:00 AM

LIVE CLASS COMPLETE COURSE
(SSC GD)

08:00 AM to 10:00 AM
LIVE PREMIUM GREEN CARD
(BANK PO & CLERK)

01:00 PM to 03:00 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL BILINGUAL

25 AUG 2021

LIVE PREMIUM

GREEN CARD
(BANK PO & CLERK)

BILINGUAL
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%6 > [LIVEJCLASS

IBPS Clerk
Prelims 2021

Batch Starts July 28, 2021
08:00 AM To 11:30 AM

Bilingual
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Evelyn starts walking from point Z towards the north. After walking 4 metres, she
reaches point A. From point A, she starts moving towards the east and covers 6 meters
to reach point B. From point B, she moves towards the north and covered 4 metres to
finally reach point D. Point C is midway between A and B.

uaﬁ?r ] z#maﬁrsﬁtmwaﬂ?ﬁ%mnﬁamﬁ%aﬁ,ang

ﬁ%A@' a8 qF 1 IR T qw Fe ¥ 3R Rig B g
#P«ms:ﬁa {&mm%lﬁgsﬁ,wmﬁmm%sﬁ?m
:ﬁrﬁganﬁﬁ foT 4 Mex A gl a7 w81 g cAR BF T &

it
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What is the distance between the initial and final What is the distance between point C and
point? point D?
yRiAs 3T fasr g & & fr gt T 87 fog c3iik g p&F i &ir gft T 87
A. 30m A. 8m
B.40 m B.3m
C.10m C.4m
D. 60m D.5m
E. None of these E. None of these
. Point C is in which direction with respect to
_D point A? o ’
) 2-.:1]4," g A% Feast & Rg cRea R o ¥2
| A. North - West
’75: B B. East
4m /,;,;9 C. West
Z D. South
E. North
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In the following questions assuming the given statement to be true, find which of the
conclusion(s) among given conclusions is/are definitely true and then give your answers
accordingly.

Statements: T>W>U=R<H
R<V<Q=T>W A.T>U
B.W<H
Conclusion: C.R=H
. R<T D.H<W
n.Q>Ww E. None of the above
A. If only conclusion | follows S=H<O<R=T
B. If only conclusion Il follows. A.H>R
C. If either conclusion | or |l follows. B.O=T
D. If neither conclusion I nor Il follows. C.S>T
E. If both conclusions | and Il follow. D.H>T
E. None of the above.
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. How many meaningful words can be formed using the 1st, 3rd, 5th and 11th
letters of the word INHERITANCE using each letter only one in the word?

elec INHERITANCE & 9gel, Y, 59 30X 119 31&RY T TANT & fhdar
YUY eeg FATT ST HFHd o7

A. 1

B.2

C.3

D. 4

E. None

it
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Study the following information and answer the questions that follow.

In a family, P is married to Q. R is the only sibling of Q. S is the only nephew of R. R
is unmarried. T is the grandfather of S. U is the only son of T. T is married to V.

tH IRGR &, P, Q¥ Rafea g1 R, Q&1 sHdlar @gleX &1 S, RFT SHhdlar
g?h\—vn%%l R HTATIRT &1 T, SFT &TaT §1 U, THT SHhellar 97 g1 TH faaw v
g3m B
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. If U is married to X, then what is the relationship of X with respect to V?
Ife U, XxT fRafea &, @Y VF o & X FT FIT A 872

A. Son B. Son-in-law C. Daughter-in-law D. Daughter E. None of these

. How is P related to S?

P fFH YR TafOT &7
A. Mother  B. Father C. Uncle D. Brother  E. Sister
T=V
. How is Q related to P‘ ’ ‘
Q,P.¥ ¥ yoR weafta g2 0 —P— 0'—8
A. Sister B. Father C. Wife T
D. Husband E. None of the above
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Eight persons A, B, C, D, E, F, G, and H are seated in a linear row, some of them are facing
North while others are facing South. H sits second to the left of E, who sits at an end of the
row. D sits to the immediate right of A, who faces the South. C sits second to the left of D,
who faces the same direction as E. H, who is not an immediate neighbour of A, faces the
opposite direction of E. F, who is not a neighbour of E or H, faces the opposite direction of
C. B faces the South. G sits second to the right of B. E and G face the same direction. C and
D do not face the same direction. E and G does not sit adjacent to each other.

S AFTA, B, C, D, E, F, G, 3 H tHF IRF 4T A 43§, 3904 4 $o smT A 3R 377w
& Sraf 31w faoT Y 3T 3o ¥l H, £ & 910 & g@Y TUTe a¥ da7 ¢, S ofe & 3 A
43T 81 D, A & 81 i a7 8, foreeT 7@ afayor Y 3R 71 ¢, D F AT { TEY FUTT T ST
8, T 7 £ & WaTe R Y 3T E| W, ST A F7 rsveaw v 781 ¥, £ A Rrodia Rem
$Y 3T 3+AG ¢ F, ST E IT H FT 9810 781 ¢, 1 7A@ faudiar feem & g1 ¢ i lGam g w1 (@
afRor Y 31 G, B F A ¥ g U W dar §1 £ 3R 6 wATT Rew A 3 3@ ¥
3R D AT fE2m i 3T 3eHq@ 731 81 E 3 G T g & HHeoT AT S B
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Eight persons A, B, C,D, E, F, G, and H are
seated in a linear row, some of them are facing
North while others are facing South. H sits
second to the left of E, who sits at an end of the
row. D sits to the immediate right of A, who
faces the South. C sits second to the left of D,
who faces the same direction as E. H, who is
not an immediate neighbour of A, faces the
opposite direction of E. F, who is not a
neighbour of E or H, faces the opposite
direction of C. B faces the South. G sits second
to the right of B. E and G face the same
direction. C and D do not face the same
direction. E and G does not sit adjacent to each
other.
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How many people are facing North? fhaar safea 3w &Y
3T 37T 87
A.3 B.4 C.5 D.2 E.Noneoftheabove

Who among the following sits third to the right of B?
ﬁmﬁf@aﬁ#aﬁas?aﬁ#m?mwéa%

A.D B.A C.F D.C E. None of the above

Four of the following five are alike in a certain way and thus
form a group. Find the one that does not belong to the group?

fArafai@d 99 7 ¥ IR v Afad adis O A9 &
3 50 YHR UF HAE d1d &1 9§ @l o FAF A
qafda aAgr 87

A. C-F B.D-A C.B-H D.F-C
E.A-G
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Which of the following statements are correct?
ffaf@a & @ sl & 39 Td &7

A. D sits fourth to the right of E

B. Cis an immediate neighbour of G

C. F sits second to the left of H.

c F D A G H B E D. B faces the same direction as C

E. None is true.

.Who among the following sits fifth to the left of C?
frrfaf@a & § &l CF I § Uad FIET W
der 872

A.H B.B C.A D.E E.Noneofthe above
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Six persons A, B, C, D, E, and F are seated around a circular arrangement facing the
centre. Each of them like different fruits, viz. Banana, Mango, Grape, Papaya, Guava, and
Apple. The one who likes Guava sits to the immediate right of A. C likes Mango and sits
third to the right of D. B sits second to the left of C. B likes neither Papaya nor Grape. A is
adjacent to neither C nor F. The one who likes Grapes sits second to the right of the one
who likes Papaya. E is adjacent to the one who does not like Apple.

BE SA19d A, B, C, D, E 3 F Teh JATR sHaEYT & TRI 3T g T 3T G FIh 95 ¢ |
S T S AT T 3T T e v ST, AT, 39T, g, 3Iawe 3R AT
AT THE F AT AT A & S g o181 cHF MHA THE L3 T@ 0 F A A
DAY TATA W ASTEI B, CF T A cHI TATT W AT | BRT T AT g ar qac g 3T &
3R A Y C 3T & F F 3MHe ¢| 98 TTod 91 3P THG § 98 TUIaT 9Hg Hlat
aTel & gr A gEY T W T ¥ EWW*W%E‘Q‘WW@%I
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Six persons A, B, C, D, E, and F are seated
around a circular arrangement facing the
centre. Each of them like different fruits,
viz. Banana, Mango, Grape, Papaya,
Guava, and Apple. The one who likes
Guava sits to the immediate right of A. C
likes Mango and sits third to the right of D.
B sits second to the left of C. B likes neither
Papaya nor Grape. A is adjacent to neither
C nor F. The one who likes Grapes sits
second to the right of the one who likes
Papaya. E is adjacent to the one who does
not like Apple.
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Who likes Banana? $dT ffd Tdg 82
A.A B.D C.B D.F E.E

Papaya

,f,.,.,,gl, Who amongst the following sits second to the left of A?
A frfaf@a # @ #lF AF T § gy ¥ W)
dor 87

A.F B.E C.D D.C E.Noneofthe above

Grape 2 How many people sit between the ones who like Papaya
3;..“...3 and Apple when counted anti-clockwise from the one
who likes Papaya? 99IdT 9HE Fldl dle qTdd |
aATad e @), giiar 98 & gt gfda 3
AT & ALY fhaa gfFq &8 87

A. None B.1 C.2 D.4 E.3
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F

Papava
C pay
Mango

Apple

D

Grape
P Guava

A
Banana

Who likes Guava? 3¥A%®E 5 9de 872
A.A B.F C.D D.E E.Noneofthe above

Who amongst the following sits fpurth to the left of E?
ffef@a & @ 9 eF a9 9 Y TUT W dor1 872
A.B B.C C.D D.A E.Noneofthe above

it
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How many such pairs of digits are there in the number ‘73951286’ each of which
has as many digits between them in the number as in the number series (Both

forward and backward)?

HEAT '73951286' H 31l & W fohdst oA &, aH @ v+ & &g 3da
é’rm%ﬁaﬁmm(mﬁaﬁtq‘%aﬁ)ﬁ%?

A.1 B.Morethan4 C.2 D.4 €E.3
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If all the vowels are arranged in alphabetical order from left to right and after
that, all the consonants are arranged in alphabetical order from left to right
of the word ‘ALONGWITH’, then which letter is fourth from the right end?
aﬁwmaﬁwﬁmmﬁwmm%aﬁt
3q% 915, T U= FY JUTATAT FH H 'ALONGWITH' 21s & 10 @
g cyafeyd f&ar Jrar §, af g0 o) & 9tur e Sia ar g2

A. T B.L C.G D.O E.W
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Six teams- A, T, M, X, L and P have their matches on
two different dates i.e. 7 th and 16th of three
months i.e. March, April and May. All the matches
are played in different cities i.e. Mumbai, Nagpur,
Kanpur, Ahmedabad, Chennai and Ranchi. Team X
has a match in the month having 30 days. Two teams
have a match between Team X and the match played
in Mumbai. Three teams have matches between the
match played in Mumbai and the match played in
Chennai. One team has a match between Team A
and the match played in Chennai. The match played
in Kanpur is just played after Team A. Team T played
the match just before the match played in
Ahmedabad. T played a match on an even-
numbered date. Two teams have a match between
Team P and the match played in Ahmedabad. Team L
played the match just before the match played in
Ranchi. Team M does not play in Chennai.

Oe AAl-T, &, T, o, TA iR fiF AT ar
3TeTT-37e19T AT I1elY et AL 1 7 31X 16
drE 1Y A, 3 iR AS H I wsh A=
3TTIT-37eTT QAG ATell HaS, AT, FTIYR,
HEACETE, AeaAs 3R TN & QS o &1 A=A
X &T 30 &Y aTel A A v AT 8| AT T
IR HeE #H @ 71T AT & T & AAY F
AFEAT Y| AaS @Y v s I=s &
gaarwFduodadm sdaiad o
iR I A @I U AT F figvdm AT FHT
AT 8 FAR A AT A AT AT AT TH
e a1E Aol 1T ¥ A7 A 3 IgASEE &
Wel ITT AT A S gl AT WATI T Th TH
&I arelY fafdy o3 v A @) 7 p 3T
FgACEIE AT T AT F gy At F1Uah
Ao A TaTATN A G T AT A S+
g AT @er OF M AeaS H TE QAT &
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Six teams- A, T, M, X, L and P have their matches on
two different dates i.e. 7 th and 16th of three
months i.e. March, April and May. All the matches
are played in different cities i.e. Mumbai, Nagpur,
Kanpur, Ahmedabad, Chennai and Ranchi. Team X
has a match in the month having 30 days. Two teams
have a match between Team X and the match played
in Mumbai. Three teams have matches between the
match played in Mumbai and the match played in
Chennai. One team has a match between Team A
and the match played in Chennai. The match played
in Kanpur is just played after Team A. Team T played
the match just before the match played in
Ahmedabad. T played a match on an even-
numbered date. Two teams have a match between
Team P and the match played in Ahmedabad. Team L
played the match just before the match played in
Ranchi. Team M does not play in Chennai.
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Month Date Team Ct | Which among the following teams played on 16th
March 7 M Mumbei | March?
_— m - Neao Wﬁ? A A T & A7 16 AT 1 @l
Aprl 7 A Ahmedabad A. Team M B.TeamT C. The team played in
April 16 X Kenpwr | Kanpur D. Team P E. None of these
May 7 L Chennsi
May 16 P Ranchi | How many teams played after Team L? &9 L& €T
frast & @eli?
A. Three B. More than three C. Two D.
One E. None
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.Four of the following five are alike in a certain way and hence
form a group. Which of the following does not belong to that

group? AFITAT@d 99 # ¥ IR & ARTd alis @
Month | Date | Tem | Gy | FHW o 3 3HIAC UF WHE a8l Awrfaf@a & @
March 7 M murow | | DI 38 HHE ¥ gefRd 78T &7

March 16 T Nagpur A. Team M B. Team T C. Team A D. Team L
E. Team P

April 7 A | Ahmedabad

April 16 X Kanpur

How many teams played matches between team P and team T?
May 7 L chernsi || EF P IR OF TH g fFasr dat a d=w @

May 16 p Ranchi A. Two B. Three C. None D. One E. Four

In which of the following cities team L played a match? A LA
fefaf@a & @ 9 aw & d9 gar
A. Chennai B. Kanpur C. Mumbai D. Ranchi

E. None of the above
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“Square Love On Black” is written as “dl ap xy bc”

“Square floor On Black” is written as “dl uv bc ap” E

“Love Wings Beauty Nice” is written as “sq xy om rz”
“Wings Beauty Floor Black” is written as “sq rz uv bc”

How is “beauty’ coded in the given language?
A.sq B.rz C.om D.EitherAorB E. uv

How is “love” coded in the given language?
A.bc B.xy C.rz D.ap E.om
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“Square Love On Black” is written as “dl ap xy bc”
“Square floor On Black” is written as “dl uv bc ap”
“Love Wings Beauty Nice” is written as “sq xy om rz”
“Wings Beauty Floor Black” is written as “sq rz uv bc”

What is the meaning of the code “dI”?
A. Square B. Black C.On D. Floor E. Either Aor C

What is the Code for “Black floor”?
A. bc uv B. xy uv C. bc dl D. ap uv E. None of the above

What does the code “sq” mean?
A. Extra B. Nice C. Wings D. Cannot be determined
E. None of the above
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88. Statements:

All Lock is Clock

All Clock is Key

Only a few Key is Door
Conclusions:

I. Some Door is Clock
II1. All Key can never be Lock
A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows

89.Statements:

No Page is Paper

All Paper is Note

Only a few Note is Board
Conclusions:

I. Some Note is not Page
II. Some Board is Paper
A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows

it


http://www.mahendras.org/

/ %ﬂé@ﬂtﬂé&d ’d/// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

90.Statements: 91.Statements: (
Only a few Car is Bus All Rod is Steel
No bus is Truck Some Steel is Iron

Only a few Truck is Bike Only a few Iron is Metal

Conclusions: Conclusions:
I. Some car is not Truck I. Some Rod is Iron

II. Some Bike being Bus is a II. Some Iron is not Metal

possibility A. Only I follows

A. Only I follows
B. Only II follows B. Only II follows

C. Either I or II follows C. Either I or II follows
D. Both I and II follow D. Both I and II follow

E. Neither I nor II follows E. Neither I nor II follows
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A is the spouse of G’s only Daughter. F is the father of A. G has only two children
i.e. Cand D. D is unmarried and a male person. M is the nephew of D. How is F
related to M?

A, G#Y gwaltc TR & Shaaareh §1 FAF Rar 81 6F Fae o a=a §
3yt c 3 DIDHﬁ'ﬂT%T—I’%E!ﬁTWW‘ﬂﬁ-T—I’%I M, D T HdaT 81 F,
M 5T 99R g<ftT &2
A. Grandmother

B. Father

C. Uncle

D. Grandfather

E. None of the above
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Nine persons-A, B,C, D, E, F, G, H and | worked
in a company. They hold different positions —
Clerk (CL), AM (Assistant Manager), MG
(Manager), DGM (Deputy General Manager), GM
(General Manager), CGM (Chief General
Manager), Head of Department (HOD), ED
(Executive Director) and CEO (Chief Executive
Officer). The positions given are in increasing
order of seniority. CL is the juniormost and so on
till the CEO is the senior-most. | is senior than the
one who is HOD. Two ranks are there between |
and F. Three ranks are there between F and G
who is not the senior most employee. Number of
persons are senior than G is same as number of
persons junior than H. D is just junior than H. Cis
just senior than E. More than two persons are
junior than E. B is not the least junior.

At eafFd - A, B, C, D, E, F, G, H 31X | T &9ei
# T FXd o | 3 AT wRf w d - Foh
(HTT), TUH (TETTF Tath), THSIT (TTEh),
SNTH (3T AGIIEHS), STTH (AETIES),
Hsfiuer (T Agmvaes), [emr yqg
(Taaid), 3 (e AR 3 d@ids
(ST FR—SR fw) | T T g aisadr
%uﬁmﬁélxﬁwmaﬁw%aﬁtaﬁ
oRE oI a% HE3N Fad aiss ¥ 1 39 afed
daRssg T HOD Rl 13IRFHF T IiFEIF
INcFAMTRTIFE, Naeqalss
FHAN T8l g1 G W IS FTFaAT H FEATH
o Ffavs FfFaar 1 9&a1 F GAT 81 D, H
A FaTFASRIC ETSFaRSTI ET AT
¥ 30+ afea Ffacs ¢ 1 B Gad ST Al g
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Nine persons—-A, B,C, D, E, F, G, H and | worked
in a company. They hold different positions —
Clerk (CL), AM (Assistant Manager), MG
(Manager), DGM (Deputy General Manager), GM
(General Manager), CGM (Chief General
Manager), Head of Department (HOD), ED
(Executive Director) and CEO (Chief Executive
Officer). The positions given are in increasing
order of seniority. CL is the juniormost and so on
till the CEO is the senior-most. | is senior than the
one who is HOD. Two ranks are there between |
and F. Three ranks are there between F and G
who is not the senior most employee. Number of
persons are senior than G is same as number of
persons junior than H. D is just junior than H. Cis
just senior than E. More than two persons are
junior than E. B is not the least junior.
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Rank | Person .
How many persons are senior to C?
CEO I CH foraar =afea afitss 2
ED 1 A. One B. Three C. None D. Four E. Two
HOD D
Who amongst the following is the DGM?
CGM F fAaf@aT & ¥ Fia Hheq 22
GM C A.F B.E C.C D.A E.B
DGM E
e = How many ranks are there betwgen ;he rank of D and C?
D3N cF IF & fig Faa ¥F &2
AM G A. Three B. Five C. Four D. One E.
CL A None
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Which of the following is the designation of | in the company?

AT 1 HT YSAH AT A T ST a1 82

A.ED B.CEO C.HOD D. CGM E. None of these
Rank | Person
CEO 1 Four of the following five are alike in a certain way and thus
— . forms a group. Find the one that does not belong to the group?
fArafei@d 99 & ¥ 9R v AfRgd adis @ a9 &
HOD | D | 3N 39 YR UF WHE 941 ol 98 @ o g &
CGM F | gafad T8l 82
GM C A. G-AM B. E-DGM C. C-GM D. H-HOD E. F-CGM
DGM E
MG B
AM G
CL A
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98. Statements:
H>F=2D;C<X>E=2R;D>B =
V =C

Conclusion:

[. X>B

II. F=V

A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows

99, .Statements:
W<E>R=ET=ZY;S=ZA=Q<W;
F>D=5

Conclusion:

I.D>Q

II. D=Q

A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows

it
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100.Statements:
T>Y>U>I=2K;V<B<N<M;K
<)JsH=G=2V

Conclusion:

I.I>H

II. G<N

A. Only I follows

B. Only II follows

C. Either I or II follows
D. Both I and II follow

E. Neither I nor II follows
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